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INSTRUCTEONS

1. This Test Booklet containg one hundred and rwenty {20 Part* A'+40 Pare ‘B’ + 50 Part Ty
Multiple Choice Questions (MCQs). You are required to answer a maximuen of 15, 335 and
25 questions from part "A' B’ and ‘C’ respectively, If more than tequired number af
questions ars answered, only first 15, 35 and 25 questions in Parts "A° B’ and *C'
respectively, will be taken up for evaluation, '

1. OMR answer sheet has been provided separately. Before vou stact filing wp your
particulars, please ensure thar the book et containg reguisite number of papes and that these
are not torn or mutilated. IF it is 5o, you may request the Invigilator to change the booklet of
ilke same code. Likewise, check the OMR answer sheet also, Sheers for rongh work have
been appended to the test bookizt,

3. Wrile your Roll Ne., Name and Serial Number of this Test Booklet on the QME answer
shect in the space provided. Alse put your signatures in the space earmarked.

4, You_must darken the sppropriste circles with a blzck ball pen related to Roli
MNumber, Subiect Code, Booklet Code and Centre e on the OMR apswer sheet. It

is the sole responsibility of the candidate to meticulously follow the instructiens given
on the Arswer Shect, failing which, the computer shall not be ghle o deciphey the

correet defzils which may pltimately resolt in Joss, ircluding releciiar af the MR
answer sheet.
5, Each question in Part ‘A’ and B carry 2 marks and Part ‘C° questions carry 4 marks each,

respectively. There will be negative marking @ Q.50 mack for each wronig answar in Part
‘A’ and B and @ ! mark for Part "C,

6. Below cach question in Part* A*, ‘B’ and *C" four altermatives or responses are given. Only
one of these aliernatives is the “correct™ option to the question. You have to find, for each
question, the correct or the best angwer,

T Candidates found copying or resorting to any unfair means arc fizble to be disqualified
from this and fiture examinations.

8. Candidate should not write anything anywhere except on answer sheet or sheets for rough
work.

% Useofcalculator is NOT permitted.

10, Alter the tesi s over, at the perforatipn peini, tear the OMR answer sheet, hsnd nver

¢ oripinal 0O nawer sheet to ike invigilator angd retain the carbonless copy for
your record.
1. Candidates wheo sit for the entire duestion of the examn will only be permitted to carry their
Test booklzt,
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ANT/PART - A

IR W A4 & IR U ¥ TR
AT F FEET FOH # Y O & A
wgvhar o ¥ RewEn, daw & ow
O J A A | B oAy A ¢ Fad
aF A Y e E AR deemer o o
F WA x gl (e /) T aTET ST
¢l a0 &y 7 9=t F e

2 %#mm%
3wy 3o A
4. X ¥ Fw s}

A fimnel is connccted to a cylindrical
vessel of cross sectional area A as shown,
to make an interconnected system of
vessels.  Water is poured in the cylinder
such that the height of water in the funne!
is { as shown. Ifthe level of water in the
cytindrical vessel is pushed down by &
distance x< /, the level of water in the
funnel:

. remains unchanged
. AX

2. rises by =5
. xl¥

3. riseshy y

, Alx
rises by e

¥ OB R 3w 0 ¥ R B W
THET & 4,15,6,7. 5,0 T b FOEp W
a(>0) 4 W/ DA B, TUT b UF IWIFY
IE ¥ OsE oENy W yfwww @
AYA SIS # Neal & wEew

1. 25 2, 26
3. 27 4, 29

Marks (out of 30) of seven students in an
examination are 4, 15, 6, 7, 5, g and b,
where g (>0) is a multiple of 4 and & i5 a
prime. What iz the maximum possible
value of the differcnce between the
maximuem and minimum marks?

. 2% 2. I8
i 4. 29

& = A A B o Ry & Ruha
Bl & uowm winw I E A @
A BW LN BA A kb §
A 2k T F RUH A FTE AT
B @w T TEE e E @ A
wHE ey & Bl o oo 4
e &

1. 2km
3. b6km

2. 4km
4 Bkm

Two persons A and B start walking in
opposite directions frem a point. A travels
twice as fast a3 B. The speed at which B
travels is 1 km/'h. If A travels 2 km and
tums back end starts walking towards B, gt
what distance from the starting point will A
cross BT

1. Zkm 2. dkm

L fkm 4. 8lm

TF ANT ¥ ¥ AR ¥ HEA
™ 60 kmh & FMEF oy F wear
T ¥ W & FeA ool 2
km ¥ rcaflr® o & e ¥ = oww
Th [T 7 FAe 30 knn B e
ﬂﬁ$ﬁﬁ|w§§aﬁr T
T ot & I B 60 kmh & ahwm
& & TEw 9w :



1. Trdr st omeew o & 9ew =
Wi 8T T mEAT

2 6 kmh
3 HWkmh
4 I20Emh

4 porson wanted to travel from Charbag

ter Alambag with an average speed of 60

kmbh by car.  The distance between

Charbag and Alambag is 2 km. Due to

heavy traffic, he could travel at 30 km/h

for the first kilomctre of his joumney.

What should his speed be for the

remaining journey to achieve his average

speed target of 60 km/h?

1. Cannot achieve his target with any
finile speed.

2. 60 kmth

3. S0kmih

4. 120 lonh

UE T YT 9% 2003 & 20054 3 o¥
ﬁm*mmaﬁ 635 cm Y
aF 2002 | 2004 ¥ @ awt 3 stwa e
&3em M I 2005 f mEETEw EeT

60em :n|a¢zmz#mm§g?

l. 53em 2. &dom
3. Sdcm 4. 3lcm

The averape rainfall over a piven place
during the three-year period of 2003-2005
was &5 em. During the three-year period
2002-2004 the average rainfall was
63 em. The acat rainfall during 2005
was 60 em. What was the rainfall in
20027

i. S5¢m 2, 60cm

3. Sem 4, 5iem

AT WL At A o e gt &
& U & -y R fwme ssmm
AP Fd g & WER e 3
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T IgerAt T @ SafE g B owr
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HEal-agd! Fd F 9 AoEaw &
s # feem
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1. #rA 2. Aip
3. @B 4, gMC

In a four censecutive day schedule, four
pilots flew flights each on 3 different day,
Mr. A was scheduled to work on Monday,
but he maded with Ms. B who was
originally scheduied 10 work on
Wednesday., Ms. C traded with Mr. D,
who was originally scheduled to work on
Thursday. After all the switching was
dene, who worked on Tuesday?

L Mr A 2. Mr D

3. Ms B 4, Ms. C

O WA (6 I0F) W 40 TN HiFdsnT
¥ argEsa F ot semnr M Sed
afthm sfedtom 9w oty

. &0 2, 60
3. 4 4, 20

After 6 g of carbon is completely burnt in
an atmogphere of 40 g of oxygen, the
percentsge oxygen left is;

1. &8¢ 2. 60

3 40 4.

Ty foer A goa & @ ww
i e s e
I T oEiE w0 Y A g

2 orEfen W e & s
AW T BRTT Hur o

T T
I. 1—-—;;;,.-3.- 2. P

2 I
3, 1—"{.—5 4.1—,-2—

What fraction of the equilateral trizngle
shown below with three identical seclors of
acircle is shuded?

A

7
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I. l-ﬁ 2. P

b 4 am
3, I—E 4, 1"T

W.W.W.Hﬁwm#
HeFr-3ma g3t dr sl afem

At 3w 2
1. 16 2. 2%
3. 31 4. 32

How many differcnt vepetables cun be
made frem cauliflowser, tomatoes, onioas,
potatees and carrpls?

i. 164 2. 2%

3, 31 4. 32

T §F A AT WA w0 Brogh
W @S T F 10 s wg gy
mﬁ%lznmﬁﬁraﬂ‘rﬂﬁg‘mﬁa‘

P W ooy AR A g fedh
L 20 2. 404
3. I4s 4 BOs

A botle of perfume is opened and a
person at a distance of [0 m gets the smefl
after 10 seconds. The time taken for 2
person 20 m oaway to gel the smefl is
about

1. Z0s
3. l4s

2. 40g
4. 30s

W RS F w3 AT
IRFA E | w4 ek AR %
Y & aua & #f g/t i
W el ol g & AR marww afre
TN G Rl F A wwn i
TR REHT A 3 W e w
A 3T Far §7

1. 21 2. 1:d

3. 12 4. 14

A mineral contains a cubic and a spherical
cavity, The length of the side of the cube
is the same as the diameter of the sphere.
If the cubic cavily is half filled with a
liguid and the spherical cavity is
completely filled with liguid, what is the
approximate ratio of the volume of liquid

1-B-H

2.

12,

13,

13

in the cubic cavity to that in the sphencal

cavity?
| PR A | Meirgal
S 4, 14

&N R q ¥ mET s
IO AT § W mE & {3 39r amar
& R o fBawr oW =T W ImeEr
I oq BY FR Aee £ fwear

L, 1. 2.0
3. 4. 1/4,

Out of & unbiased coins, 5 are tossed
independently and they all result in heads.
If the 6" is now independently iossed, the
probability of getting head is

1. 1. 2.0,

3o 12, 4. 175,

FH H AT 0T =W Fear

glals -
e

3]
el |

What could the fourth figure in the
sequence be?
*
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14.

15

Ast 150
s LI — 150 S TEEED
Boys [}
Cuiandue 140
Machanies 180
m i
. i "| ExT)
erLI
n0
1. 14 21
3 0z 4 2

AB BR ¢4 g 3mq 30 &, A
A N FHY OiT xy wd oz B
(xgy=<2)| i Bﬁa‘raiTgAﬁmg
wEF s AT ¥, A ¢ w1 Rprewr gaa

A w4 §

1. 31 -2, 3
R & 4 a7

The average age of A, 5 and €, whose
ages are integers x,y and z respectively
(x=y<z)is 30. If the age of # is
exactly 5 more than that of A, what is the
minimum possible valug of 27

. 3 2. 33
: 4. 37
EREEET § Bew & o R

W afave fadwr od-fm i B oo
Bl R A S % RS vt
# Boer gur mm o owme we
Ricardt daw UF & 39 8w F T B
oo ¥ Fa Regft # saaifhr
TN AT Asthal & ofinm s i

Physics

Earth
Sclenpes Maths

1.8-H

E5. Percentage-wise distribution of all science
sludents in a university is given in the pie-
diagram. The bar chart shows the
distribution  of physics students in
different sub-areas, where a student takes
ane and only one sub-area.  What
pereentage of the total scignce students s
gitls studying quantum mechanjcs?

Phywcs

oire [
LT —
R =TT 16
s JE
iTo
Opties Y
pe
1. 16 = 9
. 02 4 7.
16. 02 gv s #* wwew wget A Fe
FET By &7
i. 27 2. 24
1. 22 4. 14

16. What is  the total number of
parallelograms in the given diagram?

X0

. 27 2. 24
22 4. 14




17.

17,

18.

Afeta & v T & W @ret (A nwE
C) & oo wftomst & Bar mar 1 X v
T 7 EAr Wi well &7 wfoRnT st
gira ram &i FIT-HT & AT e

WOE | Fhel

7 Aoy | X | Y |2
Aaclya | e
A [2,00,000 | ot 36 (30 |40
R 2,350,000 | 70 40 | 30 |30 |
s 3,060,000 | 80 30 [ 40 130
T
L 0X
3. 2
4 X044y i grEd g‘é‘

Election results of a eity, which contains
3 sepments (A, B and ) are given in the
Table. Perceniage wvofes obtained by
partics X, Y and Z are also shown.
Which party wen the efection?

Sep- | Total ool | X 1‘:’ Z |
ment | Voters voling

A 2.00.060 | 60 30 | 30 [ 40
B 2,50,000 | 70 40 | 30 | 30
e 3,00,000 | 80 30 |48 | 30

BN

i
2
3
4. |

was 2 fie between X and Y

v GRsld Saw (reew) 41 Pt
T Rew vd @ wweh offa
oz E & fAmrd om &) Rmrh o
EF W Far (BFEeen 7 Tt wom
#) war ke

I-8-H

1%

19.

14,

B, 5.2 2 s
I 64 4, 7.2

The disgram shows the dimensions (in
em) of a vircon crystal having & square
pristn and two ideatical square pyramids.
What is the volume of this crystai {in
em’y?

ﬂ.SI
1
1
3
3 3
1
1
03]
L 32 3. 36
3. &4 i T2

ﬁmvﬂﬁ'#?ﬂ?ﬁiﬁm
TE vmﬁﬂaﬁgﬁmﬁiﬁm
Foer & aEF § oo MR @ i
WaF o vy & wmE v e b

1. » 2. v+ V¥
3 o+ E¥ £ w44V

& boy throws 2 ball with a speed v at a
vehicle that is approaching him with a
speed V. Aficr bouncing Irom the vehicle,
the ball hits the bay with a speed

I w L

3. ov4 RV 4. v+ 4¥

R T w9 wmw F oaie o4
3w e B &% 33 & mew =2
ﬁa?a#ﬂ‘rarfﬂwaﬂﬁmgarsr
ool arg, wceew ® & Y aw
@ oMo & dm o mR = ¥
YA, TS W UE AR O
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LW 2. Za@aAr
3. WEA s, FrEow



2. Four (riends were sharing a pizze. They 3. Inner sphere electron transfer
decided that the oldest friend wiil Bet an 4. Outer sphere electron trunsfer
EXira piece of pizza. Bahu is two months

older than Kattappa, who in tum is three 3. RefT B, A 96T W v gEw

months younger than Bhalla. Devseng is Ry $rde amr
one month older than Kattappz. Who : ¢
should get the extra piece of pizza? | TF N wERdy A de o
l. Bahu 2. Devsena e
S Bnsliy 4. Kattappa 2. & 9 WEEdT 3w @ 5 wewiy
' 3. e T WEEIT U v B
gy

S-HHT/PART-B 4. U B @Ry

23, The chelate rings made by macrocyclic
Ligand in vitamin B, are

). OF T 0% LUMO & wuT £, S I ane five-membered and three six-
L e, T4 r, 2. m, g, membered
3o, d@Wla, 4 o.M, 2. two five-membered and two six-
membered
3. three five-mambered and one six-
1. The characters of LUMO of CN- and 0, membered
tespectively, are 4. four six-membered
{. o.andm, 2. myand o,
3. myands, 4. o,and n, 24. EDTAY & #lfliaw wigw & N.grar o
O-BRT Frt #r dEm T, w2
2. WA B [CoANCSHNE Fm I :‘: e :T
Fe(H0LF & v ufdfpn, ot 2 il
[COHL001 4T [Fe(H 0" FeumT aqdh 3 3 AT
& F moaadt [Fel SCNYHO0)> &Y e i BB L
Gl ) .
24. For magnesium complex of EDTAY, the
HIHF 1 e € number of N-donor and O-donor centers, are
1, fEesh Rt respectively,
2. AEad Bfame 1. twoand four
S 3T 83 gt T A ety
4. 9T 9T yuEEiE FUEEETOT 4. two and eight
22, The intermediate [Fe(SCNYH,0)]™ is 5. avewwd gAvaT waiary & e Tt
detected in the  reaction of ¥F Gaer AT Aoy & A FoaclieE
[CONCSYNH, Js]* with [Fe(H;0%"* in Resaret 1 wd B B
aquecs  mediem i prodece 6 A g
[CofH,0) )" and [Fe(H,0),F*, Lotyer. b e e,

The mechanism of the reaction is 20ty by 60 0 e
L. Interchange dissociative [ U O
2, Interchange asgsociative T TR -
4,

o i s g
b ol e by gy

1-B-H



25. The correct set of eleetronic configurations
for metal ions in oetahedral coordination
geometry for strang Jahn-Telter distortion is
E

Loty el ey, e

2 légt; Eza.l EEI‘ tﬁgﬁ egl

3. 1253-. 12‘3- esil T.:_llgj eﬂz
4

- O - P T
by 8.1y By lzy &

26. FrERRR W i ol sty o

w5 ¥

I, Pdles > PPh; = P{ﬂph}j = PF,
2. PF, = P(CPh); > PPh; = PMe,
3. PF; > PMe; > PR, > PCOPh),
4. P{OPH)i> PPy PMes> PPh,

26._ The correct order of aceepior abitity
of the phosphorus ligands is

1. PMeg, > PPk, = P{OPR), = PF,
2. PF3 > P{DPhh > PPh] = PMﬂ3
3. PF; = PMe, = PPh; = P{D’Fh}g
4. P(OPh}; > PF; > PMe, = PPhy

27 nﬁgﬁiﬁm HET mer-|MPR),CL] (M =

HFALT U, 1 =0 % P1'H} NMR T

Ayt & aenfaa g b
1. o 2. UF
3R 4 ©w

27.1n the "P{'H} NMR spectrum of a
diamugnetic complex mer-{M{PR.{Cl]
(M = wunsition metal, [ = 0} expected
number of resonance(s) is
1. Three
i Twa

2. One
4, SKix

28 FRIF NO, 1L, L7, G, Jar vo? or e
AT 9 ¥ IpEsE el @
HEUT @ Epr Brey whew & wow

1. 43 i

47U I,

3 AT vor, o

3 AW NO, Cu™

Sk

8. Consider the species NO, 15, [,7, Cu™, and

VO™, The number of paramagnetic species
among them and the EPR inactive species,
respectively, are

1-B-H

29.

2%,

30,

4 and [:-"

d and [,

3 and YO, Cu™
3 and NO, Cu®

bl R e

Hil3-CO & e T strarareslt oY

ghgmfir _ :

fa) coﬂrmgﬂﬁf;rgma#, B & s
HHITT TR UEOT FL §

ib} mvmﬂmﬂgﬁcn vy AR

# 3rder wfhE &

(c} GF & wdw Fr soafes

HIFEHTOT TR &
TR
1. {a) T [b) 2, W (h)
1. Huad ) 4. {a) oY (c}

Identify the correct staternent(s} for H;B-CO.

{a) sp” hybridized orbital of B accepts the
lone pair of CO.

(b} Its v value is more than that for free
O,

{c} Formal oxidation state of C is +4 in the

compound.
Answer is
I. {a)and (B 2. (k) only
3. {a)only 4. (a)and (¢}
Haw 14 #F o Banr Fher o fr et
T fror
HTH 1 FIEH i}
O wEs || s
YRIET HgES
b a1 oy
IRERTA
c. | fomifsy ) sfRfEar $r
FEHT
d | Awga || e
[ OrrACH i | A

HE I B

. a-iv; beiii; c-if:d-i
2. ark; beild; c-jtad-iv
Y a-iv; beli; o=
4, d-jids beil; e-jvid-i




















































































